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The greatest good of the greatest number is a metaphysical concept. 
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1. 2. 3. 4.
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Strong ,it was he who invented the guiro system

 )*
 +#�� ,%-�  , �.
/0 12%� )*


 3��4� �
%56 .
#  75"8�� +#�� ���

4

&�

��

-

..

..

D
�� # ?�� ��: #� ���;�� 3�,��$ �� 
BC ����� E�4: ��

Notary public Criminal low 

An atomic scien�st A medical school
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I have not looked into the contract. it seems fair though.

Modifier AdjunctsConjunctsDisjuncts 
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Way‐infla�onLabour‐saving Labour‐market  Pawn‐broker 
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We have to take for granted all the expenses of production of the commodity on which he works.
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Economic scarcity requires people to ………………
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Allocating the given factors between the production of different commodities.
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1. 2. 3. 4.
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More over, it tended to reduce the real burden of servicing the national debt.
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In efficiency is encouraged because a buoyant sellers' market blunts competition.
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We have seen that if there is too low a level of demand in an economy the result is unemployment

.
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what is the function of the underline part in this sentence? 

In choosing to work fewer hours per week people reveal that the extra leisure is worth at least as

much as the extra goods…

Adverb  Subject Object  Gerund 
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1. 2. 3. 4.

it is usually possible to figure out roughly what it is worth compared with the good it replaces . 
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1. 2. 3. 4.

What is the meaning of since in this sentence ?

Classical unemployment since the classical model assumes that ..

Because After As soon as In order to
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1. 2. 3. 4.

This is the irreducible minimum level of unemployment in a dynamic society. Irreducible means

……
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1. 2. 3. 4.

Which merger does not usually result in the reduction of production costs?

Vertical Horizontal Conglomerate Increasable
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1. 2. 3. 4.

By pooling their financial resources, the merging companies may enjoy better.

+�= �P�� G���� �
=
>0 )6 ,#. �� +�= �P�! ,�6 �%B�� &�
/�
 �� 

+�= ,H.
 G���� +�= <��H �� +�= ,<�Q
C
 ,�6 k�9�� U%
�0 �� 

24-

1. 2.

3. 4.

4 از 3صفحه    92-1391نيمسال اول       1010/10107447 

shop:  www.arzan3.ir

p
l c

20
. ir

.

w

w
w

www.arzan3.ir

www.plc20.ir

www.plc20.ir



��� ����)
 :(
�� ����� ���� ������ ����� ����

كارشناسي

عنــوان درس

كد درس/رشته تحصيلي

سري سوال تستي) : دقيقه(زمان آزمون تستي: تعداد سوالات  تشريحيتشريحي

���� !� �� " #�$�%

& '� ()*) )) :::

:

:

: :

�+��,�� ���- ��$� "&.&.)/0

All in all , then, the international monetary fund , as originally set up ……

 �= 8BL9E  2  (�0 +X 3�! �775P
 �B� V#��� N�5:� .<...

 �= 8BL9E 3�! �775P
 �B� V#���  2 �(.
< +���
 <.
�� ��5E # ��5E ...

 S�%0 8L= 3�! �775P
 �B� V#��� l S*
  (�W��
  56 #  56...

  2 �.�� ��
  � 3�! �75P
 �B� V#��� 8BL9E S��K( .< ...

-٢�

.١

.٢

.٣

.�

The dramatic price increases… 
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1. 2.

3. 4.
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For petroleum inputs, airlines, look for more fuel-efficient aircraft. 
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Broadly speaking this assertion happens to be correct 
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Scrupulous economists clearly distinguish their role the underline part means ….

o��=  4Bp# +�(
< <�Q
C
  ABC< +�(
< <�Q
C
 

 �*
�*# +�(
< <�Q
C
  �C��
 3��
  � �'
�� +�(
< <�Q
C
 

30-

1. 2.

3. 4.

4   از 4  صفحه  92-1391  نيمسال اول   &)&)/&)&)*00* 

shop:  www.arzan3.ir

p
l c

20
. ir

.

w

w
w

www.arzan3.ir

www.plc20.ir

www.plc20.ir


